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Intermediate Accounting (1) “~
Second Semester -
2012-2013

Ql: Answer Each of The F ollowing Questions:

Qk%\l\ X company invest $20Q000 for 5 years, the accumulated amount received to
$307724, what is the interest rate?
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c\QLm\Z\ X company want to invest 8Q000 with an interest rate of 12% in order to
accumulate an amount $14(}987, how many periods needed to achieve that
amount? ‘
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OQ}%;} X company accept to purchase machine with ettlement $5000 for 5
c\\\,\\;\%‘,} years with an interest rate 15% , what is the cost of the machine?
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y }L\f\jicz}ék You have a $2000 overdue debt for prepaid phone card. You haves only $500

sy in your checking accounts and doesn't want your parents to know about this
/ debt. The debtors tell you that you may settle the account in one of two ways

J}‘ since you can't'pay it all now:
. ’2) YU ; 1. Pay $500 now and $1,700, two years from today.
| /)/ @ jn= /7) 2. Pay $2,500, three years from today.

Assuming that the cost of money to you is 8%, which alternative should

you choose? Your answer must be supported with calculations,
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Q2: You have given the following items:

7| Cash, January 1, 2007 23,000
3| Cash, December 31, 2007 $40,000
"= Net income ~ $50,000
\%l Increase in accounts receivable —— $16,000
\ﬁ Sale of equipment 12,000
. Purchase of land 25,000
L Purchase of buildings and equipment 48,000
2| Payment of cash dividend (15,000)
.| Sale of bonds 40,000
Increase in accounts payable 8,000
' \§ Depreciation—buildings and equipment . 15,000
é/ > Gain on sale of equipment < 6,000
- Amortization of patents - 2000

Required: Prepare a cash flow statement?
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